

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited) Office of the General Manager(MM) Koyla Bhawan : Koyla Nagar

Dhanbad : 826 005

Ref. No. BCCL/PUR/615039/Spares/Elec Motor/15-16/245

GRAM; KOKINGKOL (Phone No. 0326 – 2230181 (Fax No. 0326 -2230183)

dtd. 22.03.16

PURCHSE ORDER SPEED POST

To,

| Vender code : | 1/23/0/1/002 |
|---------------|--------------|
| Vendor Type: | Mfr. |
| | |

<u>Sub: Supply of Spares for repair/overhauling of Electrical Motor/ generators of Excavators.</u>

Ref: i) Our tender no. BCCL/PUR/615039/SPARES/ELECTRICAL MOTOR/EXCAVATOR/15-16/18 dated 27.06.15 Cover-I opened on 27.07.15. ii) Your letter no. EMC/BCCL/2015-16/025 dated 26.02.16

Dear Sirs,

With reference to above, we, for and on behalf of BCCL, hereby place order for Supply of Spares for repair/overhauling of Electrical Motor/ generators of Excavators at the following specification, price, value and terms & conditions:

| SL. | DESCRIPTION | QTY | Unit rate Rs | Value in Rs. |
|-----|--|--------|--------------|--------------|
| NO | | in no. | | |
| 5 | CARBON BRUSH HOLDER FOR | 330 | 265.00 | 87450.00 |
| | 54KW CROWD / PROPEL | | | |
| | MOTOR (BHEL) SIZE :- 16 X 32 | | | |
| | X 40 mm | | | |
| | MC: 15501981027 | | | |
| 7 | ROCKER ARM COMPLETE WITH CROSS ARM INSULATING GASKET ETC.FOR | 48 | 220.00 | 10560.00 |
| | 200KW HOIST GENERATOR (BHEL) | | | |
| | MC: 15501980394 | | | |
| 8 | ROCKER ARM COMPLETE | 80 | 170.00 | 13600.00 |
| | WITH CROSS ARM | | | |
| | INSULATING GASKET ETC.FOR | | | |

Sogt

| | 42KW CROWD GENERATOR (BHEL) | | | |
|------|---|---------|--------|----------|
| | MC: 15501980402 | | | |
| 9 | ROCKER ARM COMPLETE WITH EPOXY GLASS MOULDE INSULATOR ETC.FOR 132KW SWING GENERATOR (KEC) | 48 D | 220.00 | 10560 |
| 11 | ROCKER ARM COMPLETE WITH EPOXY GLASS MOULDEI INSULATOR ETC.FOR 200KW HOIST MOTOR (BHEL) | 38 | 310.00 | 11780. |
| | MC: 15501977056 | | | |
| 12 | ROCKER ARM COMPLETE WITH EPOXY GLASS MOULDED INSULATOR ETC.FOR 54KW CROWD / PROPEL MOTOR (BHEL) | 120 | 165.00 | 19800.0 |
| | MC: 15506994212 | | | |
| 13 | ROCKER ARM COMPLETE WITH EPOXY GLASS MOULDED INSULATOR ETC.FOR 54KW CROWD / PROPEL MOTOR (KEC) | 56 | 190.00 | 10640.00 |
| | MC: 15501950424 | | | |
| | COPPER CABLE LUG (TINNED), RING TERMINAL CRIMPING TYPE SIZE - 150 SQ.MM MC: 15501984381 | 102 | 90.00 | 9180.00 |
| T | COPPER CABLE LUG (TINNED), RING TERMINAL CRIMPING YPE SIZE - 70 SQ.MM | 290 | 30.00 | 8700.00 |
| 7 CO | OPPER CABLE LUG (TINNED), ING TERMINAL CRIMPING YPE SIZE - 50 SQ.MM | 270 | 23.00 | 6210.00 |
| | C: 15501997021 | | | |
| | OPPER CABLE LUG (TINNED), NG TERMINAL CRIMPING PE SIZE - 10 SQ.MM | 600 | 4.50 | 2700.00 |

Soft

 \mathcal{K}



| | MC: 15501980276 | | | |
|----|---|-----|---------|-------------|
| 19 | TERMINAL BOARD FOR 200KW HOIST GENERATOR (BHEL) WITH MEASURING SHUNT, 1500A, 75mv | 7 | 2950.00 | 20650.00 |
| 20 | TERMINAL BOARD FOR 132KW SWING GENERATOR (BHEL) WITH MEASURING SHUNT, 500A, 75mv MC: 94095090052 | 8 | 1494.00 | 11952.00 |
| 21 | SILICONE RUBBER INSULATED GLASS FIBRE SLEEVE COVERED MULTISTAND TINNED COPPER CONDUCTR FLEXIBLE CABLE, VOLTAGE GRADE - 11 KV, SIZE - 35 SQ.MM MC: 94095090076 | 200 | 790.00 | 158000.00 |
| 22 | SILICONE RUBBER INSULATED GLASS FIBRE SLEEVE COVERED MULTISTAND TINNED COPPER CONDUCTR FLEXIBLE CABLE, VOLTAGE GRADE - 11 KV, SIZE - 50 SQ.MM | 150 | 1090.00 | 163500.00 |
| 23 | SILICONE RUBBER INSULATED GLASS FIBRE SLEEVE COVERED MULTISTAND TINNED COPPER CONDUCTR FLEXIBLE CABLE, VOLTAGE GRADE - 11 KV, SIZE - 70 SQ.MM | 90 | 1390.00 | 125100.00 |
| | | | | 6,70,382.00 |
| | | | CST@2% | 13,407.64 |
| | | | Total | 6,83,789.64 |

Rounded off to Rs 6,83,789.00

Sogth

M

Terms and Conditions:

| 01 | Price | Firm till execution of the contract & FOR Destination basis. | |
|----|----------------------|--|--|
| 02 | Excise Duty & Ed | NOT APPLICABLE. However, if applicable, ED and cess ther | |
| ~- | cess | shall be paid at actual at the rate ruling on the date of supply within the | |
| | | schedule delivery period against documentary evidence. | |
| 03 | Sales Tax | CST Extra as legally leviable against concessional Sales Tax Declaration | |
| | | form. Present rate is 2 % against Form C. | |
| 04 | Packaging & | NIL | |
| | forwarding | NIIV | |
| 05 | Frt. & Ins. | NIL 100% payment within 21days from the date of receipt and acceptance of | |
| 06 | Payment Term | materials or date of submission of bill whichever is later at the consignee | |
| | | end. | |
| 07 | Delivery | Delivery within one to four months from the date of receipt of order. | |
| 07 | Benvery | Delivery shall be reckoned from the 10 th day of placement of order. | |
| 08 | Guarantee/ Warranty | Warranty 18 months from the date of delivery or 12 months from the | |
| | • | date of fitment, whichever is earlier for all items except carbon brush. | |
| 09 | Price Fall & L.D. | Applicable as Annexure-I(enclosed) | |
| | Clause | | |
| 10 | Logo /Identification | Supplied items should have either embossing or print indicating | |
| | mark | manufacturers name / logo & item description. | |
| 11 | After Sales Service | You will extend after sales service to the end user. | |
| 12 | Fitment Guarantee | Offered items should be suitable for applications in mining conditions, | |
| | | suitable for fitment to the subject accessories/ equipment/machine | |
| 12 | Integrity Doots | without any modification. You have signed Integrity pact issued with NIT. Prof. (Dr.) L.C. Singhi, | |
| 13 | Integrity Pact: | IAS (Retd), L-31, Third Floor, Kailash Colony, New Delhi- 110048, will | |
| | | be independent external monitor against this tender/ contract. | |
| 14 | Consignee | The Depot Officer, SWS Store, BCCL, Dhanbad, Jharkhand. | |
| | , comorgano | | |
| 15 | Paying Authority | HOD(F) MM, Purchase Finance Deptt., Bharat Coking Coal Ltd., Koyla | |
| | | Bhawan, Koyla Nagar, Dhanbad. | |
| 16 | Inspection | Final inspection by consignee end by GM (Excv) or his authorised | |
| | | representative. | |
| 17 | Mode of Despatch | By Road on freight paid basis. | |
| 18 | Force Majeure Clause | If the execution of the contract/supply order is delayed beyond the | |
| ļ | | period stipulated in the contract / supply order as a result of out-break of hostilities, declaration of an embargo / eurfew or blockade or fire, flood, | |
| | | acts of nature or any other contingency beyond the supplier's control due | |
| | | to act of God then BCCL may allow such additional time by extending | |
| | | the delivery period, as it considers to be justified by the circumstances of | |
| | | the case and its decision shall be final. If and when additional time is | |
| | | granted by BCCL the contract/supply order shall be read and understood | |
| Ì | | as if it had contained from its inception the delivery date as extended. | |
| | | Further this clause state that: | |
| | | a) The successful bidder will, in the event of his having to resort to this | |
| 1 | | clause by a registered letter duly certified by the local Chamber of | |
| | | Commerce or statutory authority, the beginning and end of the causes of | |
| | | the delay, within fifteen days of the occurrence and cessation of such | |
| | | Force Majeure Conditions. In the event of delay lasting out of Force | |
| | | Majeure, BCCL will reserve the right to cancel the contract and | |
| | | provisions governing termination of contract, as stated in the bid | |
| | | documents will apply. | |
| 1 | | b) For delays arising out of Force Majeure, the bidder will not claim | |
| | | extension in completion date for a period exceeding the period of delay | |

Sogth

X

Budget Certification No.: BCCL/HQ/Pur-Fin/Store Budget/Advance Action/Advance Budget/15-16/SWS HEMM SPARES/5 dt 14.5.15 for Rs 10,29,860.00 & FC no 40 (SWS HEMM SPARES) dt 09.03.16 for Rs 8,36,345.00 and eBC no. 16 & eFC no. 153.

Encl: Annexure-I

Yours faithfully, For & on behalf of Bharat Coking Coal Ltd.

(Saquib Aftab) Asst. Manager (MM)

(A.D.Santhish)
Chief Manager (MM)

Copy to:-

1. General Manager (Excv.), Koyla Bhavan

2. Depot Officer, SWS Stores, BCCL, Dhanbad

3, HOD (F) MM , Purchase Fin Deptt. Koyla Bhavan.

4. Tech. Cell, MM Division

5. Master copy / Office copy

6. External Independent Monitor: Prof. (Dr.) L.C. Singhi, IAS (Retd), L-31, Third Floor, Kailash Colony, New Delhi- 110048